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W @ AT 455/ TRIAC

Fhig: M AC e

Purpose: For AC switching operations.

R R

L BE .

Features: High commutation performances.

1% S 240 /Absolute maximum ratings (Ta=25°C)

e — " N TO-220F LA mm
ZHR S MRS AT HiH LEE A
Symbol Test condition Rating Unit - ©
Voru/ Vi Tj=110C 600 v e g
Trs T=110C 6.0 A ! '
I FZSOHZ t:20mS 60 A 1040, 3 $3.240.2 2.7+0.2
o F=60Hz | t=16.7ms 63 A Va = i
< @ -4
I"t tp=10ms 21 A’s - R
dI/dt F=120Hz | Tj=125C 50 Aus " 3
Loy Tp=20ns | Tj=125TC 4.0 A L
P(;(/\v) Tj:125°C 1.0 W ;
Tstg -40~150 (¢ 0.65:0. 1 ;
Tj -40~125 T
2. 5440. 25 5440, 25
Rth(j-a) 60 T/W =
Rth(j— AC 2.7 T/W i
J7o) / Bl : 1.T1 2.T2 3.6
H M Be 280 /Electrical characteristics(Ta=25°C)
SRS MRS fF5X BTA06 LEEA
Symbol Test condition Quadrant SW CcW BW Unit
Tarw I-TI-111 MAX. 10 35 50 mA
V=12V Ri=30Q
Ver I-TI-11T MAX. 1.3
Ve Vo=Vore Ri=3.3KQ Tj=125C I-T11-111 MIN. 0.2
14 (2) 1+=500mA MAX. 15 35 50 mA
I-111 25 50 70
1 I=1. 21 MAX. mA
11 30 60 80
Vi (2) In=5.5A tp=380us Tj=25C MAX. 1.55 v
Vi (2) Threshold voltage T;j=125C MAX. 0.85 v
Ra(2) Dynamic resistance Tj=125C MAX. 60 mQ
Toru Vory Tated Tj=25C MAX. ) nA
Trru Vi Tated Tj=125C MAX. 1 mA
(dv/dt) (2) Vi=67% Vo gate open Tj=125C MIN. 40 400 1000 V/us
(dI/dt)c(2) (dv/dt)c=0.1V/pns Tj=125C MIN. 3.5 - - A/m s

Note 1: minimum lgT is guaranted 5% of lgr max.
Note 2: for both polarities of T2 referenced to T1.
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